MERCRUISER (300 TEMPEST Gk 350%-2 1385-1936]
Serial Mbr Bange: BEEEEY? THRU OB430367 ()

k1
--'"""-—Fr

36
d(;

¥ STARTER MOTOR AND ALTERMATOR

Ref |Clazs|Part

Description

=

Comment

| A

Footnote

2 10 34435|SCREW, STARTER TO BLOCK [4-1 MA 12-3/4" FLWHEEL
2 10 34544|SCREW, STARTER TO BLOCK 1)1 MA 12-3/4" FLWHEEL
3 35363|BRACE. STARTER MOTOR 1 MR 12-3/4" FL'WHEEL
4 12 29245 \/ASHER, STARTER MOTOR STIN MR 12-3/4" FLvwWHEEL
5 1 56374|WUT, STARTER MOTOR STUD 1 MA 12-3/4" FLWHEEL
B 10 35765|SCREW, BRACE TO ENGIME [5/8)1 MA 12-3/4" FLWHEEL
i 13 26935|LOCKMW/ASHER, STARTER TERM| 2 MA 12-3/4" FLWHEEL
g2 1A 26419 MUT. STARTER TERMIMAL (#9] |2 MR 12-3/4" FL'WHEEL
1 a0 121774 2| STARTER MOTOR ASSEMBLY (1 MR 14" FLwHEEL
2 10 54435|SCREW, STARTER TO BLOCK [4|2 MA 14" FLYWHEEL
3 12404 BRACE, STARTER MOTOR 1 MA 14" FLYWHEEL
4 12 29245|'WASHER, STARTER MOTOR 5T1)12 MR 14" FLYWHEEL
] 1A 56374 |WUT. STARTER MOTOR STUD |2 MR 14" FLYWHEEL
B 10 35765|SCREW, BRACE TO ENGIME [5/8)1 MR 14" FLwHEEL
7 13 26935| LOCKMW/ASHER, STARTER TERM| 2 MA 14" FLYWHEEL
a8 1 26419|NUT. STARTER TERMINAL [#3] |2 MA 14" FLYWHEEL
) 50 934194 3|STARTER MOTOR ASSEMBLY [T|1
10 1A 34933|NUT. STARTER MOTOR STUD [|2
i 12 45176 | LOCKwASHER. STARTER MOTO| 2
12 16 57982|STUD. STARTER MOTOR [TR] |2
13 1 32219|NUT, STARTER TERMIMAL (348" |1
14 13 26935|LOCKMW/ASHER, STARTER TERM| 2
15 1A 26419|NUT. STARTER TERMIMNAL (#3] |2
16 924374 3| ALTERMNATOR [55 AMP) 1
17 13 26936 | LOCKMWASHER, ALTERMATOR TI1
18 12 96457 |WASHER. ALTERNATOR TERMIH 1
13 1A 30968|NUT, ALTERNATOR TERMINAL [|1
20 13 272 |LOCKwASHER. ALTERMATOR TI1
21 i 20830 |NUT, ALTERMNATOR TERMIMNAL (|1
22 85013|BRACE, ALTERNATOR ADJUSTIM
23 10 26487|SCREW, ALTERMATOR BERACE |1
24 13 35045| LOCKMW/ASHER, ALTERMNATOR BIj1
25 12 34714 |\WASHER, ALTERNATOR BRACE 1
26 10 74824 |SCREW, ALTERNATOR BERACE 1
& 12 26168 WASHER. ALTERNATOR BRACE |1
28 23 52035|SPACER. ALTERMATOR BRACE {1
23 57908 11| TUBING, ALTERMATOR LEADS |2
30 371154 1|BRACKET, ALTERMATOR 1
]l 10 37612|SCREW, ALTERNATOR ERACKE' |3
2

2EO4D

[ o T W P B ]} I TCORATOD D

s




